Ratio to CMS

do / dA@ [pDb]

=
o
(6)]

0.5

7000 GeV pp bb
L I B Y [N B B B S N
- _ 5
s AQ(b-jets) (pTJIeaol > 84 GeV, thead| <3) 33
= 1=
- m CMS 12
— --0-- Herwig++ 2.6.3 default N
--3-- Herwig 7.2.1 default 12
—
— i
©
=
x
I | ]
B -
a8
s )
| 7 O
- // 1 (@)
it ™
| S —
>
i A <
- B . ==
T | | N
e T B -8 —G
Q- N T - =
B S ) 15
Q------- O (&)
B 1w
= 415
o
@)
n | | | | | | | Loy | | | | | |, 7 -
:l T T T T | T T T T | T T T T | :
— -2
5 1
N EH-_ _.--BF |
i A TS i
— @ ________ Q/, —
. 05
Bl
l L 1 L 1 L 1 L L l .//I L 1 L 1 L 1 L l L 1 L 1 L 1 L 1 L l L
0 1 2 3

A between two B hadrons
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